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Starter

Get out your 3.7 packet and make
sure #5-15 on pg.47-48 are
finished. We will go over
questions shortly and turnin 3.7
today.
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For each of the given quadratic equations find the solutions using an efficient method. State
the method you are using as well as the solutions. You must use at least three different
methods.

5 x4+ 17x + 60 =0 6. x4+ 16x +39 =0 7. x2+7x-5 =0

a=1  (y+ 2 x4l%)=0 ><

b=llo
8. 3x%+ 14x-5 —q_) qu\

X= ‘bilb’l’qﬁc
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A== 1o (g -4 |29
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32. Use the quadratic formula to solve for x.

-~ . = 1 n
8.50 x11.00 in < |
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What is the larger maximum value?

44, Multip

(mo = (304 + ()00 + L0+ (i 31)
= [2-9c- ’2-“f+(8L
:_|fl-0[(,+l8(’l> [
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13. A pole that is 3.5 m fall casts a shadow thatis 1.32 m long. At the same time, a nearby build
casts a shadow that is 35.5 m long. How tall is the building? Round your answer fo the |

meter.

17. In the circle below, K is the center, LN is a diameter, and m £ LKM =70°. Use this ggmﬂ'on u
to find the following. LN\{_\\ H I
ov e oL X
(a) Give a central angIeLL'LM —_— 35 S
(b) Give a minor arc /q %
) Give inor fM L" P X

(c) Givea semlc:rcle

. %a rcg LMN 0Y
(d) Find m LM 'D )
(e) Find m LMN gmarcle LW

180°

850x11.00in < ]
L
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8. Inthe ngure below, ABCA ~ABDC ~ACDA.

C

Al D IB

Fill in the following blanks using the lengths a, b, ¢, x, and y.

Part 1: Complete the proportions.
> b ¢

=
X b Y

nln

Part 2: Use the method of cross products to rewrite the equations in Part 1.

b’ = c__ a’=

Part 3: Use Part 2 1o fill in the blanks.
a2+b2=r;_+r;_

Part 4: Factor the right-hand side of Part 3.
a+b=c(_+_)

Part5: Use the Segment Addition Property.
y+x=

ek Be llan Bacd £ b crnssstdon oo mcisndloe oo Bt d

™
8.50 x11.00 in 'l [ I
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* The circle below has center D. Suppose thatm B C =66°. Find the following.

@ mzBDC={ok®
(b) m<LBAC = .}i_-talﬁ'- 2%

19. The circle below has center P, and its radius is 7 ft. Given that m £ Q PR = 1407, find the length

of the majorarc QSR.
Give an exact answer in terms of &, and be sure to include the correct unit in your answer.

R
- - -“\.\_‘
rd N
[ 1 Aine l.
850%11.00in < [ i |
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